normalized X?

[ normalized x? probability |

chiz ThiZ_prob
Entries 31 F — —Entries 31
Mean 1.269 Mean 0.3684
Std Dev 0.6001 0.16 Std Dev 03242

o2 0.14F Thiz_prol
Entries 117 Entries 117
Mean 1315 Mean 03513
Std Dev 0.643 0.12 Std Dev 0317

chiz | hiz_prob
Enries 0.3 Entries 16
Mean Mean 03511
Std Dev 0.08 Std Dev 0.3163 |

Ratio

< x2/ndf >
n

== DQM_V0001_R000000001__Global__cmssw1000time__RECO
s DQM_V0001_R0O00000001__Global__mkFitNewOLD1000time__RECO
m—— DQM_V0001_R000000001__Global__mkFitNewTEST1000time__RECO

Ratio

< x2/ ndf >
< X2/ ndf >

Ratio
Ratio

107 1072

-1
AR(track, jeltS)
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